EARAROBEEIERT — 2 N— IBISH —F

2016%2R 10 (k) 19mES5#A3H

El=ms 83 v5%—#

(xwlw | mEmml - |5 @) o s

[A&E£] 1% :170,000 @ ~ 23%&:34,000 W  3#&:17,000M  4%:0H / 5%&:0M

ABICOVWTRDTEEERROODE. TR LIV,

B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—: " PR 144, -3-3- . — HEET) (1)

i lalio Frevyany 5 e 1(4_4)3 4-3-3-1 | 38.7 2 (4_778) it 2
LAY T RALL N BTV /948 TrZ—klTr—L
= . > 7 | EBERR 1:44.4 6-5-4-4 |38.6 — | 1 | 501 |FFEEZ (EH)

olglg|TTRTYY “ | 6.0 (3/4) © |EEEL
Rt hk—L BNLY—FF2Fa 5% s
— T REER :45. ~6-4- . - RE@ (554)

3 4| FTRY Y it 7 A 1 (4‘8 3 5-6-4-5 | 39.5 3 ;1_755) ;ﬁﬂaﬂ A
R:T7H YTy BA-T Ty HET7—L4L

EHBEN . —0—7— — HOBEZ (51)
477 |FLEFEY AT O 1'(4‘8'1 I ° ‘zg? EEBA
R:TA—T4FAF—H> B:XE2-1)—-7)LY FRBE%E
N t 4 | EHKRE 1:46.1 2-2-2-1 | 40.6| — 5 423 |SESE (%18)
5lglg| v ar—x 540 el L |EHES
L:TAd Yo7 Biwiaav4yd-— [Esgse]
N N KRET 146. ~10-9- . — IR R (%H2)

6l1lq|oc—+7> #H 5 s 1(426)5 10-10-9-7 | 39.5 8 (4_533) Bt A
RV THTIA2 R B:3vFx—vibix FE #7
B g 410 | EEBEE 1:46.5 8-8-8-9 [39.7| — 10 | 478 |fERRBIE (BHE)

717l | v =774 56.0 (7€) +3) ) F-247
:aAvrB—AF—-7 B:xICTH-0 FES S

i e B 5 | RBBELE 1:46.6 1-1-1-3 | #1.2| — 4 431 |TTTA (BHE)

8 6|F—TF—aINII 54.0 (3/4) (-p) | BT
R:xA1=Zgr—R B:IXE2TVya FE NI
“ 14 147, 46— . — JIUGBAE (554)

9 o |V U—n2 it 4 o 1(457)7 3-4-6-8 | 41.7 6 ;1_167) KR 2
L:xrivvH/ ¥ B:XU=— TADAS

s e . IR :48. -7-10- . = HREEEE (51R)

10 3| Xy yTY—4— Bt 56.0A ! (4,8 ° TII010 | 41.5 ! (4;3) UNIE :
R:d—IKF7Ya—J)b BEF>F—F LIHhITy7—L

® 1—F—@EBIERL

1T=7r= 6,9,2,10,4,5,3,8,7,1

2a=5"= 6,9,10,2,5,4,3,8,7,1

Ja=5= 6,9,10, (4,5),2,7,8,1,3

41—F— (9,10),6,5,4,7,1,2,8,3

[ /N

B 10 460 714K 5-10 120H B 5-8 200 JEE 4-5-10 290M

B B 10 1004 4-10 240M B = 5-10 210 JEE 10-5-4 2,660

5 1004 4-5 180H B H 10-5 880M
4 140/




